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oL oRON B R BRI ) A B RN B | A AR B RN R st R IF K TR K%
Shine dhines Shine | | 7 ) s Shine
N3 A R 33,494 8.9/ 11,946 13.6 93,927 5.6 67,273 19.0/ 2.80 | 1.40 3,009 7.6 3,963 9.1
a4 44,721 33.5| 11,693 | A 2.1} 125,773 33.9 66,500 | A 1.1) 3.82| 1.89 3,194 6.2 4,294 8.3
5 AR 50,760 13.5| 11,284 | A 3.5| 146,115 16.2 65,797 | A 1.1) 4.50| 2.22 3,270 2.4 4,509 5.0
AF6E 21 49,713 | A 3.2] 11,002 | A 1.0f 148,163 6.0 63,874 5.5 4.52| 2.32 3,043 0.9 4,259 5.1
3H 49,850 | A 2.7| 10,840 | A 7.5 147,523 0.2 65,592 3.9] 4.60| 2.25 3,676 1.9 4,975 | A 0.4
4H 47,609 | A 1.1] 16,719 6.3 140,455 | A 2.3 71,075 4.8 2.85| 1.98 3,853 4.1 5,210 5.9
5H 50,502 8.0 13,942 4.2| 141,258 2.3 74,231 6.3 3.62 | 1.90 3,732 4.9 5,156 6.8
6H 53,919 6.0] 11,029 | A 1.7| 146,328 4.6 74,297 6.2) 4.89 | 1.97 3,975 A 038 4,798 | A 3.3
H 50,426 2.5 11,382 11.7) 149,458 6.0 71,891 7.5] 4.43| 2.08 3,348 9.8 4,603 7.0
8 H 43,032 | A 20.4 9,963 | A 1.4 141,463 | A 4.5 69,458 7.4 4.32 | 2.04 3,025 3.8 4,164 3.8
9H 52,468 4.2) 10,980 3.0/ 140,717 | A 5.5 69,310 7.8] 4.718 | 2.03 3,135 3.9 4,358 1.5
104 57,571 0.9 12,290 2.8/ 148,206 | A 3.3 70,403 6.6 4.68 | 2.11 3,404 1.7 4,788 2.3
11H 46,487 | A 7.3] 10,362 2.2| 149,363 | A 0.4 70,004 7.1 449 2.13 3,373 3.6 4,515 | A 0.3
124 52,205 6.2 8,858 5.5 150,199 0.7 66,770 6.9 5.89 | 2.25 3,334 2.1 4,477 0.0
TRITE 1A 54,294 0.9 11,992 1.6| 148,103 1.9 66,343 5.7 4.53 | 2.23 2,956 5.1 3,924 1.5
2H 44,646 | A 10.2] 11,274 2.5 146,687 | A 1.0 66,669 4.4) 3.96 | 2.20 3,183 4.6 4,373 2.7
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